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COMMON FIRST REVISION TEST - 2020

, STANDARD - X
ime ; 3.00 hrs Mathematicg . ) . ‘ Marks: 100
Part -1 14x1=14

Note :

10.

givg: fr;swe: all th? 14 questions. [i) Choose the most suitable answer from the
uralternatives and write the option code with the corresponding answer:

ﬂ;:' =(x+1)*- (x -1)? represents a function which is '
a) linear b) cubic c) recipr | !
ocal d) quad

IFA=(0}. ind Ax A s N
a) 6 b)0 o0 ) ((6.0))
7% <. (mod 100) '. -
a)1 by 2 c)3 . d)4
Find the sum of 2 + 3+4+_ +15 :
3) 120 b)1 c) 225 d) 119
3y-3 7y-7

y  3y? ~

9y - © gy 21y? - 42y + 21 ty:-2y+1)
A3 ") 21y -21) 2 3y’ Dy

The solution of the system x +y-32=-6, 7y +72=7.32=9s
a)jx=1,y=2,z=3 b)x=-1,y=2,z=3 ¢c)x=-1,y=-2,2z=3 H):=1.y=2.z=-3

1 3\ (5 7
Find the matrix Xis 2X + | = 71| g &

-2 -2 \ 2,2 12} 2 1
_a}[z _-1] D N2 2) ‘”[2 2)

Atangent is perpendicular to the radius at the

a)centre - b) point of contact  c) infinity - d) chord
The point of intersectiioin of 3x -y =4 andx+y=81is
a)(5,3). - . b) (2, 4) c)(3.3) - ' d) (4.4) ‘
If sin6 = cos, then 2tan? + sin?0 = 1 is equal to
-3 " S A ~2
. XY = . - d) &

Kindly Send Me Your Key Answers to Our email id - padasalai.net@gmail.com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

1.

12.

13.

14.

-15.
16.
7.
18.
19.
. 20.

21.
22.
23.

24.

25.
26.
27.
28.

29.

www.Padasalal.Net www. Trb Tnpsc.Com

2 X- MAT

The total surface area of a cylinder whose radius is 1/3 of its helt_:!ht 1S
: 2 ' 56nrh?

2 d)

| 8rnh* . .
a) Q:TBh sq. uﬂils b) 241".'h2 sq.units. . c] qul_unlls
if each has the same diameter and

sq.units

The ratio of the volumes of a cylinder, a cone and a sphere,
same height is

a)1:2:3 b)2:1:3 c)1:3:2 d)3:1:2
The range of the data B, 8, 8, 8, 8, .... 8 is ) _

2)0 | b) 1 c) 8 d)3.

The probability of sure eventis .

2)0 by12 - . c)2 o d) 1

Answer any 10 question. Qn. No 28 is compulsory 10x2=20

Define a function.

B xA={(-2, 3), (-2, 4). (0. 3). (0, 4), (3, 3 (3. 4}}fndAandB
If 13824 =22x 3%, then find ‘a’ and ‘b’

Ina GP. 729, 243, 81 . find t,.

Find the LCM of 5x - 10, 5x2-20

If , p are the roots of the equation x2 - 11x + 10 = 0, find &* + p-.

J7 -3
IfA= -5 2 then find the transpose of -A. . A"
V3 -5 |
In this fig. AD is the bisector of £A . IfBD=4cm,  6em
DC ='3c.;m. AB =6 cm-find AC.
‘ B fem D3em C

Prove : tan20 - 5|n29 tan?@sin?0.

Atower stands vert:cally on the ground. From a point on the ground which is 48m away from the
foot of the tower, the angle of elevation of the top of the tower is 30°, Find the height of the tower.

If the circumference of a conical wooden piece is 484cm than find its volume when its hmght is
105cm.

Find the range and coefficient of range of 63, 89, 98, 125, 79, 108, 117, 68
When two dice are rolled, what is the probability of getting same number in two dice?

Find the equation of a line which passes through (5,7) and makes intercepts on the axes equal in
magnitude but oppasite in sign. . g

Answer any 10 questions. Qn.No.42 Is compulsory: 10x5= 50

LetA= (1,2, 3,4)and B = (2, 5, 8, 11, 14) be two sets. Letf: A— B be a function given by
f(x) = 3x - 1. Represent this function i) by arrow diagram ii) in a table form iii) as a set of ordered
pairs iv) in a graphical form
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- 3 X- MAT
If f(x) = x - 1, g(x) = 3x +1. h(x) = x2, show that (fog)ch = fo(goh).

Ifs..s,. s;... s are the sums of n terms of m A P’s whose firstterms are 1. 2, 3. ...m and whose
common differences are 1, 3, 5, ... (2m-1) respectively, then show thats, + s, +s; + ...*s_=12
mn (mn+1)

Find the sum 0.4 + 0.44 + 0.444+__ nterms. T %7

Find the GCD of 6x3 - 30x? + 60x - 48 and 3x® - 12x2 + 21% - 18

1 -1 .
IfA= [2 3 ] then prove AZ - 4A + 51, = 0.
Write and prove the basic proportionality theorem.
Find the area of the quadrilateral whose vertices are (-9. -2), (-8. -4). (2. 2) and (1. -3)

A man is watching a boat speeding away from the top of a tower. The boat makes an angle of
depression of 60° with the man’s eye when at a distance of 200m from the tower. ARer 10_seconds,
the angle of depression becomes 45°. What is the approximate speed of the bear (in km/hr),
assuming that it is sailing in still water? ( /3 =1.732) -

[f tan@ + sinB = m and tang - siné = n and also m =, then prove that m? - n? =4 /mn

An industrial metallic bucket is in the shape of the frustum of a right circular cone whose top and
bottom diameters are 10m and 4m and whose height is 4m. Find the curved and total surface
area of the bucket. .

Find the mean and variance of the first n natural numbers.

Three unbiased coins are tossed once. Find the probability of getting atmost 2 tails or atleast 2
heads. |

Using clay, a student made 8 right circular cone of height 48 cm and base radius 12 cm. Another
students réshapes it in the form of a sphere. Find the radius of the sphere.

Answer both the questions: - . - ' | 2x8=16

a) Take a point which is 11 cm away from the centre of a circle of radius 4cm and draw the two

tangents to the circle from that point. | T
b) Construct a triangle PQR such that QR = 5cm, £ P= 30° and the altitude from P to QR is of

length 4.2 cm.

a) Draw the graph

and disc{:ss' the nature of solution of the quadratic eugation x2+x-12 = 0
b) Draw the graph of y = x2 - 4 and hence solve x2-x-12=0
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